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‘The greatest common divisor of 2x% —x -1, 4x? +8x+3 is

q 2:':’_'._1 o . . (B) 'xl—l-
T |

© 2243 O 2x-1

2%% —x -1, 4x* +8x +3 ar UG Qung G
A 2x+1 I B x-1
(C) 2x+3 o D) 2x-1°

Length and breadth of a room are 8 m and 5 m resp-ectivel_y'. A red colour Border of uniform
width of 0.4 m has been painted all around on its inside. Then Area of the border is

W 976w ) ~ (B) 12m?

(C) 10.66m? L (D) 504'm2

8 & Barapid 5 B aam@m Qanaim_ @@ ammuﬂ]m o U Lplons SHHleur 04 LS .-_qaaa),s,@m sl
cueiaRTLILITGDS WELILREE. A0y eucime Lrevguder LFTLIATa) WTE? -

A 9768 L ® s - ’_
© 10668 L o) 5048 |

Three equal circles of radius 3 cm touch one another in outside. Find the area enclosed by
them

(A) 1088cm? . L WL’
(© 6llem? | | | (D) 29.73 cm?
3 Q58 %u@me‘r @Jaﬂgu cul_L himeT qpsurmp@wrrmgi QeuefiGus Qgsrr@m(ﬁurrg SieuHHred @guu@m

u@é]u.%sr Uy | _ . _
A 10 88 Qg52 - (B) 1.45 Q&L$3

(C) - 6.11 Q&2 ' _ (D) 29.73 AT
. .. Sum of the déﬁationstaicen from the -———— is zero
"(A)  Median © - | - (B) Mode

VC("’Mean o o - D) Variance - o

S wHss a@mgg a‘r__r;iaq.mﬂdi Aesariaafer éml@§ QAsnens yF8lund @D
@ @elwfoy B ws® B
(C)  symeM ' _ o D) dewss euirss sgrsifl
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5. Mr. X borrowed Rs. .5,000 - on Tt of June 2006 and returned it on 19th August 2008, F"ind
the amount he paid, if the interest is calculated at 7% per annum

@) Ts5140 M0

-

© Ts210 ' - @) ¥ 5280

v

Ay X arenuaui 7.6.2006 ery T 5,000-g sLemsrL Guﬁ)m_l Sing 19.8.2006 ey Hytbu
Qagigdenir <q,eum;.;p(e_g,'?% &g el iy sersd LUl L rd et degisdu Asrems rdiauarey? '

&) T5140. | . ® T5070
© ¥s200 . O T 5280 |
6. Simplify : lqg5_44-10g5m , | ;
v 2 o 2
.és &: lo 4-0210 -—I—
o 3’({5@'. gs_" 35100_ |
@w ' ® -1
© -2 o . '_ ®) 2
T e s a8 : )
. Simplify : —=<-+°__
7 , implify x! + 42 +16
. x+2 ' '  x-2
_ W x% +2x+4 ' . ®) 2 +2x+4
_x+2 ' N x-2
© xt_2x+4 _ (D) x®-2x+4
- g;.' - xP+8
O +4x* +16
2 R x-2
Ay =< . S SN
@ x*+2x+4 ' : - ® x?+2x+4
S x+2 o C x-2
(C) x% —2xw+4 o ' (D) x?-2x+4
~ EO1GSn8 : s e



8. If tan@ = % , then the value of _x_2 is equal to

) _ a*+x :
W cos & (B) sin &
(C) cosec @ D) sec 8
tan9=% eTafled ﬁ - s?rm,ﬁﬂq
(A) cos @ (B) sin &
(C) cosec@ - D) sec @

9. For m,ne N and m >n, which of the -foilowing is a pythagorean triplet?
A m’+n®,m+n, 2mn ' ' W m? +n? m?-n? 2mn
(© m*+n® m-n2mn _ D) m+n, mi-n? 2mn

m>n, m,ne N eaénmp ;Eluﬁgmwés(ﬁasgbu ﬂekrm@malaj,rj)yér Agnarellen apeipern Qgngsl erg?

A mi+nim+n2mn B m?+n% m®-n? 2mn
(© mi+n% m—n, 2mn - D) - m+n,m?:-n? 2mn
. » _52 .
-10.  If @, b, ¢ arein A.P. then P is equal to
. Hc ' - .
a-50 :
Ay . B 1
a+b o - a+b -
W b+e : ' @) b-c

2 2

a, b, ¢ eaume sm_H A auflensuler SimoBFTD (;2 — & iy

@ a-b | | ® 1
b+c : ; .
©) a+bd D) a+b

- b+ec ' b-c

- 11. - In a triangle point of concurrence of three angle bisectors is called as

'(A) Centroid (B) Orthocentre
(C) Circumcentre ' wr Incentre
m wisGaransar apay Canamiiaeiiar §mawdaulysd sbfégn Laref DGID.
Q) pBECsM_( muwwid - (B) QeaGsri{ ewwid
(C). ai;i)gxsm'_L“ epownd - (D) e émau L enowid . _
. | 5 o EO1GS/18
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12.  The motion of the earth around the sun is a

- (A) Linear motion ' _ (B) Wave motion

' M Uniform circular motion _ .. (D) Uniform linear motion
GNumané sHD Lelulen Gussionarg) | A
(A) CriCar @ Guéasd B s QuUEsD
(C  &ren sppdl Quissid . (D) &ymew CuAGam’ (B Quidsid

13.  The concept of el]iptical orbits of an electron in an atom was proposed by

(A) J.J. Thomson o (B) Ruther Ford

(C) Neil Bohr @f Sommerfeld

<igy Lordfuie, aGaslgrafler sHpliures Bemeult_omang; eréip a;@gjssng So Dl eui
A) J.J.gmbevenr B) s Guar® '

© g Gumit _ D) smordud®

14.  The absolute zero is the temperature at which
(A) Water freezes il
(B)  All substance exist in solid state

ue)' All the particles in a body would be completely at Rest
(D)  Water vapourises

Qautiuflene) gaft Lygeluid eranug

A B uaﬂs&_u}u.rrrgm

B)  soasg Qun@m&@m gl flenoouinge

©)  @mdungefie odrar Hinarsg) gsm&@m @uia] ;Elrmwas@ NGELY
D) B g elurgd

15. In the following compounds,
. () N,O (i) NO and (iii) N,0O,
Calculate the ratlo of oxygen that combines with 14 gms of ‘nitrogen.

(A 3:2:1 . ® 1:3:2
T 1:2:3 D 2:1:3
S\paan Caimotsats
@) N,0 @) NO wppo (i) N,O;
14 8l eoploggien Gsmb yeadlgalen fleop clélzgms sarsd®.
(& 3:2:1 B 1:3:2
€ 1:2:3 . D 2:1:3

EO1GS/18 '_ 6



16.

17.

18.

The instrument used to measure the humidity is
(A) Thermometer. o (B) Thermistor
% Hygrometer | : (D) Anemometer
IS SEELOGMIL SETEHL LGB &med
@ esiCombiie  (B) Ggddt
(©) mgmés@@umﬁLLr‘r D) oefGomBi
’I‘yphoid fever can be conﬁliﬁled by which of the following test

M WIDAL test

(B) Mantoux test

(C) . Van Den Berg test

(D) Southern blotting technique

SGQQ QsrRésliu’ L apile) aieumi® sMussema 2 MAILBSGID Cangener o1g)?
(A) eneuLmed Gengenent |

(B) Cuerée Garganer

©) Ceuern Lewuits Gongenen

D)  szien Gerriinhl 2 G

Which of the following is taken by athletes to increase their muscle power and efficiency?

(A)  Glucose | (B) Insulin

W Anabolic steroids (D) Epinephrine

SpsaIT_cupmIET aTgenar FLs eSTisdT, shsEELL genssaliar Hnd wHmDd Gsudurigmen

2ifsflse aBgs darandldmpeni?
A)  @asstsamed B) @anscdlar
(C) euaniiompw GV T &ET D) 9. LM

7 _ EO1GS/18
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19.  Consider the following statements and choose the correct answer from the codes given

below:

Assertion (A) : ‘Among the f{ajputs and Jats of Central India and Rajasthan, the praﬂficé of
~ killing infant girls was common. To escape the demands of the dowry system
at the time of their marriage, female children were thrown into the Ganés.

Reason (R) : William Bentinck declared infanticide as amounting to murder and

prescribed Penal Punishment for the offenders.

W Both (A) and (R) are true and (R) is correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
©) @Ais trua but (R) is false

(D) (A)is false but (R) is true.

Spsaam_ amsdunsemer saallsy Qardassul e GHUGsfdimbs shurer el eow

Csiray Qea

apy (A) :-wsdu @bHur wipe Zorgdvgrefle aruw grgudrisdr LHND gR_@sT
Aurgiewrs  Queir  Ghesaeer Cardgay s, Hmwer GCposHe
aursl sandmbg sUGss QU Ghmssmer stiamaullc SHenmiradr.

srpeerd (R) :  Quen @ppeagomu Qardgiaug Qsrawsgs #ioid, QAanenaée sﬁummﬁwml'r&_mm

i @mmgj ST Ge QPALD Semiq S&UILIHaINTSET ereat eflevedlund Quieinig fiis Sl SHmir.
@ @ whpid R) la_ainm)m. ®), (A) b sunen eﬁ]m@s@n@m
B @ u_)fbgl; R) c_amenio yenmed (R), (A) & & u.nm.eﬂerré.&m @éea
(C) | (A) Q_Q;T@UJU.I e, U ETTED R) Quriwnreng)

(D) (A) saupreng gyamrd (R) 2 crenowneig)

EO1GS/18 8 B e



Arrange the Legislations/Acts, which were introduced for the emancipation of women, in
chronological order ’

L Sarada Act
I Abolition of SATI Act
III. Dowry Prohibition Act
IV.  Abolition of Devadasi Act
(A) L II, IV III @) LILHOLIV
) - ILLII IV ‘ﬁr I, I, IV, III

. Queir APsresaTs QuUPPUILILL s LRismer s1a auflasiu®sd awais
L FIIST S 1D : : : ‘
I sfefiyssiob
O apslsmeats se_& sl L
IV. Ggeugré gufiig sl
@) LILIV,II ® LILILIV
© ILLIOIV : h D)y ILI W, I

Match List I with List II and select the cbrrect answer us.ing the codes given below :
List I ' List 11
(a) Xhan Bahadur Lucknow

1

(b) Kunwar Singh 2. Kanpur
(¢) Begum Hazrat Mahal 3. Bihar )
(d) Nana Shahib 4. - Baireilley
Codes :

@ ® © @
A 2 4 1 3
B 3 2 4 1
were 4 3 1 2
D)y 2 3 4 1

wflens 1 2L én auflens [I-aans Qurmsd cuflenssiEnéd &QQ&W@MUUL@W&T ng@uuﬁ)aﬂ@pg
shiwren efleni19anen Azflay Qslia.

auleng 1 anﬂap& II
(a) &men LsgNT 1. e&Ceny
() @eveur &riy 2. amemyf
() Cuswb ansnd Logm)rrsu 3. l_'ias(rr'r
(d) prem sngpU 4. ewueritel
GHIGaer : | '
(a) ®) © (d)
A 2 4 1 3
- ® 3 2 4 1
© 4 3 1 2
D). 2 3 4 1 |
9 _ "EO1GS/18
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29 When the Madras Hindu social reform association was started?

(A) 1890 o W™ 1891

(C) 1892 _ (D) 1893
eri@umpg) ‘QuoLgmev Q6B FpsTw 5ﬁ£®§g§ Qusan CompmefdaiinilLg?
(A) 1890 (B) 1891

© 1892 | ' (D) 1893

23. Which among ﬂ.le following was NOT one of the messages of Ramakrishna Mission?

\—(ﬂr Devotion to God _ _ (B) Spiritual Development
(C) . Unity of All Religions B (D) Service to Humanity
Epésd ubmIeT, ¢ThS ey @rmuwdlmepesr agefic Qau'_léla_sefﬂ&) GO L_heu Djva?
(A) sLeydt LGS . (B) yendseerisdl

C) - mansg wghmsaier phmensd ' (D) waisis@pssrer Gomeuaer

24.  Which of the following is correctly matched?

(A)  Atmiya Sabha —  Radhakanta Dev
(B) Dharmad Sabha -~ Debendranath Tagore
(C) Tattvabodhini Sabha - Ram Mohan Roy
W Prathana Samaraj - Dr. Atma_i'am Pandurang
Spssam_aupmen erg) sRwing QUIwSSILIL PeTeng?
(A) - opsdw sur - grgree_ Goeu
B) smwesur ) - CsCeupBumns s
©) - gggmcquﬂaﬂ FUT - gmbCoraes Fmu
D s pen swngyd - LML, p&Lonmb Uurer@m

25. Find the odd one ouf

(A) Sir William Hunter : - Indian Musalmans - )
(B) Darabai Shinde - A comparison between men and women
(C)  John Maleom ~  The life of Lord Robert Clive
W Keshav Chandra Sen - ' Indian Mirror -
safl5g DG @enD BepLWineTd STea i
A & eﬁl;bcﬁlu.nb QERTL_T - QBAw pevdwrensat
B)  srgrumy GG - %@T—Qum @ @U@
(C) grérwrésbd ' = @omui’. Heverey Gryeilen eumpsens
D) Caseu sy Qs - @pduer Bgi

EO1GS/18 —_— 10



~ 28.

27.

28.

29.

The place well known for marble quarrying in Rajasthan is

(A) Ganganagar : W Makrana
(C) . Bikanar ' (D) Jodhpur
vefliig urep sItssHDE HSH QUDD FrgavgTaler i @Librang
(A) _ SERIGTHSIT B) wayren
(C) YQssmenrm (D) Ggrsuyir
Which of the following continent is not a part of the Gondwana Land?
(A) Africa _ (B) Antartica

\.(Ef Europe (D) Australia
ECip QanRssiiu_(Hdrer ebn_misatic érgj Carewr(Heumesm ﬁmﬁ LpLienU ETRHSEE Dieva?
A ualssr : B) SRILTTGEST
©) gCGymaumr ' (D) paudCrellwim
Which of the following multipurpose project was constructed on the basis of USA’s Tennesse
Valley authority? : - '
(A) Kosi Project | WDamo&ar Valley Project
(C) Koyna Project _ (D) Rihand Project
Spsred LACETEG St asafle, sQwRssreller Quenafled LaTeTssTéE Hmeust @l_l_,s,ﬁar

Siig LU L U9 6uIg CUDESILILL I 6TEI? :
(A) Gsrfl Hiiib (B) SGRgT LaTeTSHTEE SLL 1D
(C) Qamienr Sl D) e diLw
' Identify the concept which is not associated with the origin of Indian Monsocon.

(A) Thermal concept - (B) Aerological concept

upy ‘Westerlies concept (D) Flohn's concept
@pHw LmeussTHPlen CamdnsgiL e AgmLinldens Caml_Lm_enL. AL WITETLD SIS,
Ay Qasdubd sribg Gamumr(p (B) aeflliud Gar_unr®
(C) GuawsstHGomir Carlur D) SyGemmeflen Gamliumr® -

11 _ . _ EO1GS/18
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-30.  The state reorganisation commission was established under the Chairmanship of

(A) S.K.Dhar . B) _ H.N. Kunzru

@~ Fazl Ali (D) KM.Panikar

- wn@erLw gaeaenouden & wrhletisaldr wmérmnoliy Syeenub gHLRSSIUL L P
Q) ae.Cs. gmiv ' (B) Gs.erenm. GIGD
© cwued s (D) Cs. o uaflési

31, Panchayats have been given adminisﬁrative control by

W X1 schedule o (B) XII schedule

(C) XIII schedule ' (D) XIV schedule

ughsTLSgIEMeT LHH 2 AW s HrIT g6 auipiduig)
A 1il-aug DL GuenemT (B) 12-eugy oL cuenemt
(C) 13-eugy s Lcuenemr D) li-eugy 'L cuaneer

32.  Consider fhe follbwing events :
L Fourth General Election in India.
é Formation of Haryana State.
3. Mysore. named as Karnataka State:-
4 Meghalaya and Tﬁpura become full states. _
' Which:one of the following is the correct chronological order of the above?

v 2_1-4-3 B) 4-3-2-1
© 2-3-4-1 . D) 4-1-2-3

 EpsanL Bapeasamer smidld Qaras .:
- L Qpureiled srenareugy AUrgsCsiTgH.

2 apflurer wrfleb Siewwgd. '

3. @G SFBT_&T wrflowrs QuufiL_g.

4 Cuarewr wppbd SRy ey wrekisema wTy .

Copsar_ dahmbsaer ST auflestiLig sfwuner eufians erg?

A 2-1-4-3 B) 4-3-2-1

(G 2-3-4-1 ' O 4-1-2-3

EO1GS/18 . 12



33.

34.

| 35.

36.

Which constltutlonal amendment added four new languages to the 8t gchedule of the
constitution?

(A) 91 Amendment — 2003 VG(92'“1 Amendment — 2003
(C) 93~ Amendment — 2005 (D) 94t Amendment — 2006

ThHE awaﬂmcomu)uq Q@%m &uﬂwwwmuuﬁ]w Beug L auenertulied ;[-,rrasr@_r, LHw Qumflamar
Cansgg?

(A) - 9l-aug) s FH®mSSD 2003 : (B) 92—9.@ UL g8lmsgip 2003

© 93-ag &LLg@@,sgsw 2005 D) 84-aug s L HmSSD 2_006

“Which one of the following persons was selected as the President temporanly at the first
session of constituent Assembly?

L Sachidananda Singha . (B) Rajendra Prasad
(C) Dr. BR. Ambedkar ' (D) KM. Panikkar

Qereupd puirseafid erauit amaﬂum) @iy Bierw seudea gpandls gaa)weumms ®ED al L SHeé
Gep@sHdEaLILILLcuir?

(A  ssflgnenhg Aerapr - (B) orCGgpdy Gpsrg
(C) LrgLi. 9.y, DCuSsTT (D) Ca.¢rwo. uefléaT

- By which amendment, the associate status of Sikkim was abolished and made her a
full-fledged State (no. 22) of the Indian Union?

(A)  35% Amendment : (B) 34t Amendment

" Ak 36" Amendment _ _ - (D). 37 Amendment

aps srfuesniy Hmsssdar ppen, NAsfo-a Qe Spsivg ePssluld, QEHu
pifugdear 22aug) wrBowrs wrpdhumsssulLg?

A) 35 ag srdluamoiy SEss0 (B 34 am arfluamoiy omss

©) 36 ag sirduamoliny Hmsso @) 37 aug 2irflueaniy Huss0n

W}nch Article deals with the appointment and Service of Comptroller and Aud.ltor General
of India?

(A)  Article 147 ' L@r* Article 148
(C)  Article 149 . * (D) Article 150

aps P AHHu sowems sans@ LHND gefldms sfarfidar Fluwend wHMD veaflamer LHH
afleundladlpg)? :

A) B 147 ' - B &g 148

€) off 149 D) &5 150

13 EO1GS/18
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37. In which year a Speciai Act had been enacted to make Tamil a compulsory learning
language to all the school going children in Tamil Nadu? '

(A) 2000 (B) 2004 -
© 2005 VB 2006

FOPBTL g, LTl Qedgild Sinenss) SPE@SEED. FHIP @bﬂ@mu SLLMULONG SH&E Gw_é'w@d:
eremm HpLiyd FLL D, THF et (h QErarBeiriuTLg? -
(A) 2000 . (B) 2004
© 2006 . | (D) 2006

38. The distribution of net proceeds of taxes to be shared between the Union and the Sthtes is

decided by : _ :
A Planning.Commission M‘inanoe Comm_issidn

(C)  Central Government - (D) State Government

auficlifuden apab S s@b aummobrages, mww ATHDGD, e .@uﬂﬂﬁ;@b Ben Cu Lflirey

Qeuiaiemng Wit (pigey Galeug?
@ Slsey - B - fPs &
(C) eww Qm& | : D) wrfe s

39. The Public Distribution System serves the purpose of
(A) Controlling deflation. _ |
W Supplying essential commodities at lower prices
© Ensuri_ng equitable'distribution of income
(D) Controlling public expenditure
Qurgy Gﬁl}ﬂcuﬁs-@mb Qb5 CoréssHih® ﬁwdru@eﬂmga | . ‘ -
@)  vemam Lsmss SLOUUGES | ‘
® éliﬁu.maléiu LT RIse0eT Gophs el auphis
© m@mmh swudliencs e.mdl Galiws

D) Qurg# Qeamaus sLHLUMGSES

EO1GS/18 o | | e



40.

41.

Identify the period marked as Plan Holiday in India.

(A)  1956-59 | - M 1966 — 69

(Cy 2001-05 . (D) 2011-15
@pHwureiles Hl Gﬁ]@@p@;pé&ﬁé)l.b erenp GO L sTs@ss sam(Gy 6.
(A) 1956 -59 ' (B) 1966 —69
() 2001-05 | (D) - 2011-15

Following are the nucleotides and amino acid involved in protein synthesis

(a) tRNA
() mRNA
{© rRNA |

(d) amino acid (Alanine)
(@) DNA

The correct sequence of code transfer involved in the formation of a peptide is

W ebad c ®) ab,cde

© ab,ec . | (D) a,dbe

Hgsw Suni&Gn Hlapelien Qurr@gj“lﬂgéé]aﬂcunmLa@{b, QOGarm oiflbsEnDd @ananbg)

Weseu@mwnmny QeuouBing.
(a) tRNA

(b) mRNA

(© rRNA

(d <NCeanm SO (wenanes)

() DNA | , , _
Quuml_-l;.g@mnw@w Qencugeueraupiles erpg ufigpeny SeuppruGing
(A ebad . @B) ab,cde,
© abec - (D) a,d,b,e
15 o .- EO1GSN18
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42.  Match the following and choose the correct one :

Dronacharya Award 2017

Arjuna Award 2017

Dhyan Chan 2017

Rajiv Gandhi Khel Ratna Award 2017

Epauguetaupap Aurms sflwmer ellen e Cgira; Galis :

(a) Devendranath 1.
(b) Bhupender Singh 2.
(@ P.N.Prakash 3.
(@ Dr.R. Gandhi 4
(@ ® (© (@)

(A) 3 2 4 1
B 1 2 4 3
© 2 3 1 4
\V&r 4 3 2 1
(8) CzGaupdyprs 1.
{b) QGu;bl;r'r-e;ﬂlﬁs 2
(©) 9. erén. Srsnay 3.
(d) Dr. @ym snpd 4
@ O © (d)

A) 8 2 4 1
® 1 2 4 3
© 2 3 1 4
D) 4 3 2 1

&iGynamrsentl ef(ma 201_7

g Oent Az 2017

gwinen gem 2017

prgieu snpH Gaer pHenn elimg 2017

43.  Why Aadhaar Number is linked with PAN Number? |
W To enablg the Government for distribution of subsidy to the needy people

ST erem gér  eumwren eufl  genpulemyre QUPRSIUED ;ﬂqp,su STTEHS, amr@wrr@

sl .-_qryammsw CgevauiLBILD LD&ESEFES ey 2.6 m@m@mgm@ 2 DigIeRT Qauﬁarpg

(B) To give an idéntity to a citizen

(Cy To avoid»cori'uption

(D) To detect the income tax payers

Gearss ILDEDS?

A)

B)  BE CHEDEG G S uTand QPEEGADS
€) eapom yﬂn&;&mg: :

)

EO1GS/18

QU(pLOTET af Qegipgiueiiseer sam@Sliy.56 2 goydpg |
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44.  The first e-court of India was inaugurated at

W' Hydefabad (B) Aimer.
©) - Allahabad - (D) Muzafarnagar .

Qudwureliern apged Werangm — BHwenpb e SnHst mmésasuuﬂ_u.g?

(A) MADSTTLITS .(B) DIROIT
© swsmms ' (D) gpsmuipsi

45. Who was crowned Miss Universe 2017?
(A) Manushi Chiller . \,@5’ Demi Leigh Nel Peters |
4 (C) Laura Gonzalez ' , (D) Davina Bennett

B wpafleurev 2017 Wn(HéE GLL UL LE? _ _
A ogef dderi | B) G Goo G S L ifeiv

(C) erpr QsmensTad6 . : D)s GLefenm Wuérean_

46.  The air craf_t accessories manufacturing unit to be set up by Government of Tamil Nadu is at

~ SIPCOT _ |
AJ#®” Sriperumbudur : - (B) Perundurai
(C) Hosur o (D) Navalur

ahs Suan Hneuargde ﬁLﬂ{ppn(&éu‘&\M@M euneln 2a1itfl LsiseneT 2 HLISH Aeiiul e drerg? |
(A - LBQuEbLgNT - (B) Qu@hgieop-
(O) g _ D) preugmr

47.  The 22 Asian Athletics championship 2017 was held at
A" Odisha o B) Kolkata
(©) - Bengaluru D) Mumbai
DO oy s sL_sar apsenenio L GLiM g 2017 eriis peoL Qupg?
| A  guer ' (BY GQarasssr
. (O QuiiseEsm ' : D) @vumd

¢ | 17 ~ EO1GS/8
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48.. India’s New Warship is named as o
v~ INSKiltan o B) INS Kamorta
(C)  INS Kadmatt (D) INS Vikrant

@iduwirelen yHu Guiri stilieller Quuwir
(A) geren ére_io & _men - (B) g eren erev &moGrmmr

(C)  moén arav &lions x D) g erem ereiv efléyman

49. A new type of document that combines the flexibility.of a word document with the power of a
spreadsheet was founded by “Shishar Mehrota” and “Alex Deneiu”. It is one among the hot
startups in 2018. How is it named?

(A) NAUTO " (B) NARVAR
(©) VAYYAR - V@7~ copa

T eﬁhﬁmﬁsgrrqﬂﬁr (spread sheet) ApGam, i eunigeng (word document) Q{,@Jsmg@ar sucncrﬁgu
CandsEn gaemwlomer @milssudmdsnh g wmsLITa opeusb, “fegri nginclym'_t.'.n”
wppd “HCodeiv AGemi” ACumTe: Cgrppefssii’ Herers. 2018 Qe uuuu’uuwm
Qg _samisefie) @ged amrg. Qs Quuit _

(&) NAUTO (GprGun) B) NARVAR (priveuir)

(©) VAYYAR (oauibwi) (D) CODA (Gsmn)

50.  Astronautsin NASA, uses SLAMMD to we1gh themselves i space. SLAMMD stands for
(A) Space Line Astronaut Mass Measurement Device
(B) Synchronous Line Astronaut Mean Mass Device
©) 'Synchfonous Linear Abceleration Mean Mass Device
var” Space'Li.hear Acceleration Mase Measurement Device

- (NASA) ,rf,rrerreﬁ]gjmm dilrCeuall  eSpirger  eflamQeaefuler grserg aTenLeniy aqreﬁ’lL,
SLAMMD - enant’s uwmu@wﬁa@mn SLAMMD erénLiger el fleunéstd :

(A) Space Lme Astronaut Mass Measurement Device
. (B) Synchronous Line Astronaut Mean Mass Device
(C)  Synchronous Linear Acceleration Mean Mass Device

(D) © Space Linear Acceleration Mass Measurement Device

© EO1GS/18 o 18 | -



51.

52.

Name it using the following clues

L It was created by Niantic. INC T

. It became the fastest mobile game to reach 1 billion in fevénue earlier in 2017.

I, It prepares to release another augmented reality game based on the World of

Harry Potter . ' '
(A) ‘Crash lands’ (B) ‘Mine craft’
W ‘Pokemon Go’ (D) ‘Fidget Spinner’

ereuqmid enp Hpeysanars Qararnh Gaen AuLIT SMSE.

L ‘Blurengs’ erguid ;ﬁlgja:mgglrw Rs a,@mn&suul_l_g

II. @ 20176n Qpm_sagHCatCu 1 QéeSliien auseuTeW FCigs, U @m&mrraﬂGgrr@ masu(%ué] |
eflevemum’_® ‘

IIL gprfi-umit_i eremucuiTEafien 2 wsias Sl LTESE Qaran® @g Cogud ¢ Quwimn .
Qu rmeSw, Quilugrassss alleenunyeer Qaiafili surt Hevwudld o drarg.

A ‘Gyrey erarey o B) ‘@wedric]

(© = ‘Gurs@uonar Gsr’ D) gy doSénenit

Which organisation has developed an artiﬁcial leaf to create fuel from sunlight?

(A) Defense Research and Development Organisaﬁon

V@ Council of Scientific and Industrial Research

(C) Indian Organizations for Environmental Protection

(D) Ind.ian Space Research Organisation

Qswpers Gaw wobd Glu gaflidimhbg afidurdgmer QumiugHaETeT ﬁu_gﬁmeu Gl&u.la)u(Bgs,ﬁuJ
Bioeuend 61g? _ ' ' . . -
A  urgsmiy rmisd wHmib Covum @ awwuq

. (B) eAgserend wppib Agme gen rmiFAssar G

(C) shHpsEwsd ungsriyssres GniL Sienolny
D) @pfw dlarteaaf %U‘H‘lﬂ&&l ey

19 E01GS/18
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53.  The ratio of the ages of the father and the son at present is 19 : 5. After 4 years the ratlo wﬂl'
' become 3 : 1. What is the sum of the present ages of the father and the son? .

(Ay 40 ; ' B) 42

y 48 _ - (D) 52
SEUILET WHHIL WegEELW SHGLT@EL awdbferCuurer dldsb 19 : 5. 4 mLRsEEEE DG
iU TEerler suu.n@ 3:1 arenp eflflgid eremred Gmeuflan HCLTMSL auwiden &;L@g;@grrms 5rrm‘a
@ 40 ® 42 -
© 4 . - D 52

54 If1°+2°+38% 4.+ k® =14400, find the sum of 1+2+3+---+k
A 144 - (B) 169

v’ o120 D) 441
12 +2843% 4.4 k® = 14400 arafld 1+2+3+--+k an sn(Bped areman?
@& 144 N B) 169
(©) 120 ) | D) 441

55. What is the .total area of elght squares whose sides are respectively 5 cm, 6 em,
7 cm, ..., 12 cm

(A) 650 cm® | V@’ 620cm?

(©) 600 cm?® . ' - D) 675 em?

5 @&b, 6 Gab, 7 Gab,...12 QoS L&E ieToysMaTE QaraL L sgirhsaticn unuummséﬂdf
- sa(Rged eTetrean? , ' ' '

(A) 650 Qas? (B) 620 QsB?

() 600Qas? . (D) 675 Qa52

" 56. Find the LCM of the following‘
' 90 x%yz°, 15Oxy8z2 225x%y

(A) 15zxyz ‘ (B) 15x%y3%2%
Vo 450552 (D) 450xyz.

Seneumeuaneuplen 5. Qum.o smekr :

90x2y2?, 150@822, 225 x3y32

(A) 15xyz | , B 152y

(€) 45023328 o ' D) 450xyz

EO1GSN18 20 . e



57.

88,

59.

60..

In a school of 720 students the ratio of boys and girls is 7 : 5. How Jnany more g1rls are to be
" admitted to make the ratio 1 :1? _
(A) 100 0 B) 110
L= 120 . : oD 105
720 wreseuirseT LIGgId Ldefuller g amsdT WHDID Quéinsefien Gt:rﬂéaﬁfb 7 : 5 @@Gh. Qeaeidgsang
1:1 erem ompp ereueuetey QuaRTsmer saBgwns CorésGousm(Bid?
@ 100 ®) 110
) 120 D) 105
A number is increased by 22 %% and gives 98. The number is
Ay 45 o B) 18
ver- s ®) 81 .
R, STRTEHT 22 %% 2 wiggib Cung 98 Aa_&dng erafle) ibs ereir
A) 45 . . ® 18
(C) 80 (D) 81
A sum of money triples itself at 10% interest per annum, over a certain time. Find the
" number of years :
(A) 10years ' \Pr” 20 years
(C) 25 years o - (D) 15 years
@ GSOLN L .-_q&mrrarrg] 10% 2@TH eui_ly. e5gHHld Gr,sgsa)m Q;,sm@scrﬂm el wumasrr@m?
A) 10 & Padr ‘ ' (B) 20 syem@aer
(C) 25 sy@nBse ‘ D) 15 yan@aer
Find simple interest on Rs. 10,950 for 42 days at 10% p.a.
(A) Rs. 116 (®B) Rs.74 )
-\ Rs. 126 | (D) Rs. 108
. 10,950 aremp osané@ 42 prisclid yenpe 10% sallay gepde foLsen ey
eTeuauaTe,? _ ' _ '
(A) @ 116 B) m74
© @126 @ @ 108
21 3 EO1GS/18
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61.

62.

63. .

« 64.

In a right AABC,|{ B =90", | A=|C=45"and AB=BC =g, then AC is equal to

A 2a __ . ® 27

(C) 3a . - o vor a2 ' - .
QeiiCaram 'A4BC>-6'D | B=90", | A =|C=45" wimud AB#BC':a, aefléd AC énwdiiy
A  2a | | (B) 2a? | |

© 8 . ® a2

Let n, r, are the radius of two circles. ‘If two circles touches internally, then dastance
between their centre’s is equal to : . '

(A n+rn . : | Mr,'wz

© nn ' o 4 .

n, r, eauet s suu_rmsaﬂar QURSET ereng. Q6 L kiser e L Lprss QzrHorenmd, QL
PLWRIEEREES GG o drer grmorang : .

@A) n+n | ®) r-~n

© nn | @ -

The circumcentre of the 'triangle with vertices at '(O, 0), (0, 4) and (4, 0) is

@ @9 - ® Wy
wreo. | ™ (%)

(0, 0), (0, 4) DM (4 0) .-_ﬂ,&lu.l yerefisenar mem&sm&' Gasrram_ @&Gasrrewrgﬁm SHpeICL euowib
(Cu'cumcentre)

@ @y ® ¥4 4%)
© @» ® 3 %)

If the 'equationg Kx+ 2y =5; 3x + y =1 having no solutions then K is SR

(A) K=3 B v K-6
(C©) K=6 : : D) K=4
Kx+2y=5; 3x+y=1 agyb swarunpaesss Siey @oons Reaauie, K a oy
@A K=3 : B K=6
© K=6 ' , D K-=4

'EO1GS/18 22 S e



65. Whole numbers W = {0, 1,2 3 4,..... } are also called as

(A) Positive integers A (B.) Counting numbers
' W Non-negative integers - . (D) Integers
PP STRTEET W'z_.{O, 1,2 3,‘4,......} TETLGT . ammm'ad)yéssuu@m
Q). Hews ap ereirssen A : (B) eremrgmib TERTEET
(C) @ang)tﬁ DD QPP eTeSmGEeT . (D) @@&5&

66. Which of the following is / are true

- (1)  All divisors of a number are also factors fdr that number
(2)  All factors of a number are also divisers for that number
(3)  All divisors of a number need not be factors for that number
(4)  All factors of a number need not be divisors for that number

v~ (2),(3) . ® DO

© @O, @2),0) ' (D) Al the four
- Spéscmcuppyer erg) / ereneu Fflwirang)?

1) qi crerefién e aiEESHEsD SidQeusmaian srpafsammet
2 e aaTeRien e asrn}mﬂs@Lb SldQeuaranilen cuGsdsaTnGd
(B) g canaflan ard@T UGSHS@HLD @@Qma’urmﬂdn srgafluns Hméss Camaulame
(4 e Grc&sréwﬂér crevaur smpenfls@hn HdQacmaien cigsduns @@55&:5' Ggananfdrena |
@ @0 - C® W
© @M. : ' D) s@adzId

67. What is the dimensional formula of energy from the eq.uatjon E =% mu??
W MrT? ‘ ; ®) MLT?
© MLT? | © ML*T?
E-= 1 mv? erémp swerum_iq 8 g Q,;bmaﬁlsgw ufioresr eumlsun(y ereren?
2 g I[HHE : |
@ MEPT? ' B) MLT®
© MLT® | O ML

¢ , .23 ' - EO1GS/18
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68.. Which of the following reactions are redox redctions
L CuSO,+4 NH, - [CuVH,),] SO,
IL 2CuSO, +4KI —>2 CuI+2 K;50, +1,
IIl. - Na,SO, +BaCl, - BaSO, +2NaCl
IV. 3Br, +I-6 NaOH -» NaBrQ; +5 NﬁBr +3H,0

(A) Tand NI . v~ Iland IV
(C) TandIV : D) 1land I

s

Epsacm_upia @Oés ghn elemarssr erencu?

I  CuSO,+4 NH, - [CuNH,),] SO,

. 2CuSO, +4KI »2 Cul+2 K,SO, +1,

. Na,SO, +BaCl, — BaSO, +2NaCl

IV. 3 Br, + 6 NaOH — NaBrO; +5 NaBr + 3H,0

@A) I whme I B) Il whmd IV
© luwppdIV @) I wpgd 1T

69.  Which one is not an organo phosphorous insectide? _
(4) Diazinon | (B) Malathion
W& Carbaryl "~ (D) Chloropyrifos
sflw unevLrey LFAE Aarddd sideng pm Gomob erg?. |
(A) e wrgemnen _ B) wresHurd
(C) amrunfié | _ - D) @Gmn@usrén;ulﬂuwdu

70.  The pH scale runs from a pH of ————to pH of
@) 0,7 I . ® 1,14
© 714 . ’ \ﬂ)‘o,m
pH oienei® eréirug pH -@mha pH sueny y500.
@ 07 - @) 1,14

© 714 _ - (D) 0,14

EO1GS/18 | 24



Match List I with List II and select correct answer using the codes given below the lists :

List I - ListII
{a) Kof Diji . 1. Punjab
(b) Kalibangan 2. Sind
(¢) Rupar o 3.  Gujarat
- (d Surkotada 4. Rajasth'an.

(@) (b) © (@

@ 1 2 3 4
® 4 3 2 1
2 4 1 3
®) 3 1 4 2

L gwe [ 2 Car, ulqud 1T eams Quinmss cuflenssense & ar@asuul Berer Qer@ 960 (HHgI

sfluner e amws Ggirey Gewis.

uligine I | Lliguied IT
(@) Gsni g L e
(b) sSurisen 2. &by
(c) emumT . 3. BRI
(d) - #iGaprggm ’ 4. grgevgmer

(@ ® © (d)

(A 1 2 8 4
®) 4 3 2 1
© 2 4 1 3
o 3 1 4 2

25 EO1GS/18
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72.  Match List I with List II and choose the correct answer from the codes given below. :
List I List IT

(a) Qutub Minar 1. Pirst Great Monument of Bengal style
(b) Lotan Maéjid 2. . Tower of Victory ' _
(@) Quwat-hl-lalam 3. Treasured Gem of Islamic Architecture
4. Might of Islam

(d) - Alai Darwsaza

@ ® © @

Q) 4 3 2 1
B 2 1 3 4
“r’: 1 4 3
@) 1 2 4 3
ugwed I sﬂw wigwe IT g Qurmssis. ECyp qu@uuu;@mw ePuiGsaficr @mpbay sfiuiian
sﬁlmt_cmu; Gﬁﬂp@g@ . o Y ¢
g T L guwe IT _ ’
() @gbasnt 1. auismer unerfl Qarame. psd Hphs Heeaneys Adnemd
() Corlierwssd 2. Qeupil Camymd
© @urg-ed- @avamd 3. ' Qevemndu s gLs asémuﬁs&r Quradls p5Hami
4. Bevemlen Leib |

d) s@wgreurer

@ ® © (@

(A) 4 3 2 1
® 2 1 3 4
© 2 1 4 3
™12 4 3

73.  Name the terrestrial God of the Rig Veda from the followihg list

(A) Savithri® - V& Soma

(© Indra - | (D) Aswins.

&Gy gsquug@arar uuq,u.le&aﬂ@;agj fié GagsHea @;ﬁ}uﬁh_uu(pw (W ﬁwm &rrrr;bg 5!_04@61’6
eHIPs. '

@)  srelpph |  (B) CGemor

@pdyer (D) eelaiiaer

EO1GS/N8 | | 26 | .



74.

75.

Cons.ider the fpllowing statemepts about V.O. Chidambaram.
1. | He started Swadeshi steam Naﬁggtion company
2. . He was always criticized by English dJ udge. E.H. Wallace
3. He was a disciple of Balgahgadhar Tilak |
4. He strongly condemned imt,ouchabi]ity~
Which of the statements given above is/are correct?
&) 1,2and3only @ L3and4only
(C) 2,3 and 4only : (D) land4only
ar2. Agburd uphu Spsar cursSuiisamer aséuaﬂé,asmtb.
1., | Qe &C58 SI':II_IdJ sbQueflenu Ggm_hidearmi
2. Peuenr adGaw EHud EH Cauebeiv eremuicui GI'UQLIIT@g{Lb @D sadleTmiv
3. Reurt l:lﬂ‘d)&(ﬁl&ﬂ'ﬁl]’ Haafler T peumt | |
4. '. Beuir ﬁaim,na)mmuJ QUATENLDILING &@Tmnfr
Qarésiin L. émme é:rréélu.nﬁmaﬂd: o181/ eTeneu &f1? .
A) 1, 2wpgd 3w @ - ®) 1,3 wppw 4 u{r_@fn
(© 2 3 whpb 4 @b | O 1 opgd 4 WL GD
Muslim .Ieague' observed “Direct Action Day” on
W 16t August ' (B) 17t August
| (C) 18t August ' . (D) 19% August
oD 58 “Curg BLaug &ens BramTs @Lﬁﬂw mn&
A)  epsevl, 16 | ®B) sevl, 17
©  aymevc. 18 ~ @) apsevr, 19
27
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76.  The Ghadar party was organised under the leadership of

(A) LalaLajpat Rai (B) Thilak

(C) . Bipin Chandra Pal \@7” Lala Hardayal
sEit &8 ——-i-—;—gsmé)cna;buﬁlér &P FHUPSSILILLG).

(A) ' QI EUS T B) Jast

(€) N9 spAyune _ (D) eTer apitswrer

77.  The first woman President of the Congress

Wa»” Sarojini Naidu | . (B) Rajkumari Amrit Kaur
(C) Annie Besant : (D) Madam Cama
sniidyfen apsd Aueit geveaui '

(A)  sCorghafl pry® | B) e s Qsent
(C) enafl Queen ' ‘D)  &mwor BbepwTT

78.  Match the fbllbwing States with the names of Shifting Cultivation :

State Name of shifting cultivation
(a) Asom 1. Podu
(b) Kerala 2. Jhum
(c¢) Odisha : 3. Mashan
(d) Madhya-Pradesh 4, Ponam

@ ® © (d

A 2 1 3 4

@ 1 4 - 2 3

© 3 2 1 4

vaor 2 4 1 3

Qencuqnid wHledsamer Grompa Ceustrarenn AuwitsGert® QuTmSHs :
whlewn @ orpp Ceuerrameno Quwir

{(a) GsmD - 1. Gur®

(b) Gsgerr 2. 590

© eusr 3. mrevmen

(d) wsHu WCEHsD - 4. Gumend
@ ® (© (d)

A) 2 1 3 - 4

@) 1 4 2 3

©€) 3 2 1 4

D) 2 4 1 3

EO1GS/18 - | 28



79.

80.

81.

The shifting cultivation is known by the name of “Milpa” in |
(A) Brazil ~ (B) Zaire
(C) Indonesia . ' L@ Central America

QLuGuuiiey aﬂwenuﬁmg‘@@un’ aren @GOG HrLrens

(4 . 9CGréle - (B) emswri

© @iGsiCGaflur D) wsdw AQuAEST

Which one-of the following parts of the Indian constitution describes the legislative relations
between the Union and the States?

(4) PartX - @ Part XI -
(©) PartXIl (D) PartIX

Spsar_aipmer QFHu srfwemwida aps uGH wilu-wrlobdamGioner sl

2 meysener eilersGEnE!?
@)  usdX | C® usdXI
© ued X1l ' @) uedIX

The right restricted by Preventive detention is

| L@~ Right to freedom

(B) . Right to constitutional remedies

" (C) Cultural and educational rights
(D) None of the above

SO STeLeTE urrﬁés&ﬁu@ﬂ: 2 Memwo

(A sghdrsdparer oflenwo

B) amﬂium‘abmﬂq ungierOGer 2 Neanto
(C) serésmy LHmb swebidsTar 2 Nano

D) Qe ageyd Gdama

29 ~ EO1GS/18
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82. In which popular case court declared that Par].lament had 'mo power' to amend ‘the
Fundamental Rights of the constitution? '

{A) Kesavananda Bharathi case . (B) Shankari Prasad case

W Golak Nath case o | (D) Minerva Mill case

er;bg'. Grue. a.lggésé]d): Bwenmd Srfumanidear S .o_lﬂsmma;cu;m ,ﬁ@gsg
UMTESADEEDE THE &@&ﬂv@w Qoew ereny oiflelEss?

(A) Cesuranpst UTTd Q&S , (B) srafl ﬁlugn,z_#, PSS

(€) | G&&Q)&Spng UPES | (D)  Henieum S Gi.l;pé@

- 83. Assertmn (A) : The Indian Councils Act also called Morley Mmto reforms was mtroduced
in 1909. ' ' '

Reason (R) : Lord Curzon's imperialistic attitude, autocratic rule and lack of syinpathy' for
Indians and the fallure of 1892 Act to fulfill the legitimate wishes of the
people

W Both (A) and (R) are correct and (R) is_the correct exﬁlanation for (A)
(B). Both (A) _and (R) are correct and (R) is not the explanation fdr (A)
(©  (A)is right; (R) is wrong | |
(D)  (A)is wrong; (R) is right

spn (A) E ‘ mrruGa) WBlenGLm inﬁ@,sgm eren SendaliuRdenn @‘r_r,ﬂu_s &e e dlad &:._L.u) 190950
FHUGEFILLLS). - .

smyerd (R) . sirgen Gyyefien gandugHuGuises, serafémsurar 28, @pHuisefi_td Qa;ml'm_
Brésfeneno wHmb QHHL wasehar ;S]u_mu_lumm CaikTGCsreTEaeT ﬁlmm@wgmg
m@m 1892 et &L ib. '

| A spm (A) wg)guo srgenrd (R) @r,mur@m sflwreneney Gmgym smerd (R) snmmy (A) sﬁlwm

sflwmer aﬁm&esw

B) &gm &) whHmbd sryewrd (R) @vw@w FHlurenency Gmguu: sryeeid (R) sapm (A). G&lpsmﬂ'

GSleTEELD e
(C) . spm(A) i amyewtib (R) saugy .
D) mpp (A) gougy; smyeand (R) o1

EO1GS/18 . s0 | . e



84,

85.

86.

Cantonment Act was passed by the Central Legislature ini the year

W 1924 (B) 1909

© 1882 D 1870
serGLren@wen 1 tb gl w FLLIOSIDESTE) DID@IGHES, o h% GU(HLLD

A 1924 - : (B) 1909

(©) 1882 ' D) 1870

Arrange the following sectors from highest energy consumption to lowest energy
consumption in India. '

@) Industry

Gi) Agriculture

(iii) = Public lighting .
@iv) Domestic use’

@) @, @), (i), (v) @ G, G, G, ()

W (D), (iv), (1), (iid) @) (@), (i), (), (v)

@sdwreile Spaumbd gompsald fls sy @5@&) gmnl(BHg GoDHS LﬂéT&lru'Lb HI&EMHD
goparfiurs @oiig auflesulld apgs. '
@ Gsmflogop |

A1)  Neusmugsgienn

(i) Qumg) eflens@se

(iv) eSL@ euCwraLw. |

L@ 6, G, 6 O ® v, @), 6,6

© @, (v), (W), (i) | D) @), (D, @, (v)

Which of the following tax contributed the maximum share in Tamil Nadu's total Tax
Revenue in 2013 — 14?

o \4( General Sales Tax : (B) Stamps and Registration

(C) State Excise Duties : (D) Taxon Vehicles

2013 - 14 gyid %m‘nq.a) Q.L&Q{_F)ﬁﬂ,lq.a?'l Qurgg eufl G}J@Q.I‘mﬁ]d) s eumaumen Aupms AsTHSS eurl
(A) Qurgy efpuener aurl B) usdrudla eufl -

(€ wrfle Huss Siemau D) eunaen cufl
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87. Whaf was the i)it_'th rate in Indis, in the year 2010?

(A) 7.4 per fhousand

L 22,1 per thousand
(C) 10.1 per thousand
D) 8per i:h;)usand
2010t syeimg 6 @Hwimefldr Gpiiy eSpib wirg)?
@ oo YSrHie T4
B)  ¢6 R 9rsdpe 22.1
©  56-WBHG 10.1
() QPP BET TGS

88.  Consider the following statements. _
Assertion (A) : RBI raises the interest rates and cash reserve ratio.

Reason (R):  To control rise in prices.
(A) '(A) is correct but (R) is wrong
(B) = (A)is wrong but (R) is correct -
{(C) Both (A) and (R) are wrong
L@r” (A) and (R) are correct
Bpésam_ aréfuiaemer smeHd Qaners :
aapmy (A) : Dpfu fsitds akd ey Bghsmeryd Qrrés @iy chldggenpd
ewisgdng:. - ‘ R
smyemid (R) : cﬁl@a)@u.ngb PE@F SL.HULBES.

A)  (A) shwmeng @yeméd (R) seupreng
B)  (A) sapreng syeméd (R) sfuneng
© (@A) m@m ®) @yl @ren@id sauprens
D@ (A g (R) eu @renGio shurarg
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"T-he five I{ingdc;ms proposed by Whittaker are

| (A) Moneré, Protista, Algae, Fungi, Animalia
(B) Monera, Proﬁoioa;_-Fungi, P_lantae, Anim.ajia.
©C) Moneré, Protozoa, Bacteria, Plantae, Animé.]ia

M Monera, Prbtista, Fungi, Plantae, Animalia

o8I CL I éaér@wn@ﬁg wHS) 2 QERISET .

(A)  Quomefym, L]Gl;lrtq_éfut..rr, 2 HC8, oL Erneg, siefiwallum

(B) . Qumafym, q@qai'_cur(}%érrm m, ;.5@@;, CiemrenGL, SieflweSlur |
€y Q@ ma\g?qu, qun.’.Gt_rrG&rr@ m, urdel] UJH',.L:JQTI'I‘GaTGL. yefwedlwr

D) Qurafyr, yGymigevL, .°05@m5. DiemmenGL_, sefiweflmr

Which of_the following is the correct seqlience in Kreb's. cycle?
@) Isocitric acid —» 'oxalosﬁcéinic acid - & Ketoglutaric acid
(B)  Oxalosuccinic acid —» a_' K'e.toglutaric acid — Isocitric acid
| W‘ Isocitric acid - a Ketoglutaric acid — Oxalosuccinic add

D) a Ketoglutaric acid — Isocitric acid — Oxalosuccinic acid

&yiev &Q;’ngﬂuﬂe’m Gung &fﬁu.:rrar miﬁmsuSlIdJ Do Papey org?

@A) @Csrdl s sublan — %éauewnséélaﬂés siflob - o & CLTGEs LM Snfleb
B) cg,éau(?wrrs.éser&aﬂ& aqu&]wvd.a ->a &LGLW@,@I'_Lmﬂ& Sflown —» gCsrilMs au.ﬂanb
() gCsrfiLN& &‘L&;\)L‘D - a 8. CLrgEn L nfis auS\cofo - %éauéwnaée;&aﬂé Siblad
(D) a eic,él_rr@@n'_unﬂé 'aLﬁlsmb — mGenfl_M& éuéla)fo - Q,@ao@wmﬁ;d&aﬂé Sifled
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91.  The implementation of land reforms is done by

A Agricult_‘.urﬁl Department. B | WRevenue Department |
(Cy  Village Panchayats = (D) Municipal Department
Po Sifoisspom QeuoLBipos . -

(A) .Gm'amdor'mm;'s SoD | . | (B) Q.I@G;Jlfu'.lﬁ glenp

©  Symo ugsTwsgEsdr (D) @aﬂé]u& )

92.  Who wrote the book “An Era of Darkness” : The British Empire in India?
(A) Sunité_ Narain ' | 19° Shashi Tharoor
(C) Hamid Ansari (D) Tharoor
“Q Qe ssIsD” : @;ﬁﬁmr‘wﬁ]d: i 1 69 Guipa: erémp Eenen erpBwseui wini?
(A)  seafigr prymwer - : (B) snéad) ﬁ@r’r
© oy Siénenf ' ®) s

93.  Which of the following city was declared as India’s First_World .Heritage city by. UNESCO'?
(&) Madhya Pradesh : B) Rajastliém : '
yﬁ@( Ahmedabaﬂ | (D) Maharastra

@bdwirellen @,561) 2 @& umbLIAU pEIH Ty wARWCET ThE FETEmS iPleNlS58?
(A)  wgHu Qglsen E _ B) grgevgTen
(©) DIEOSALING | o D) wargTaygyT

Lo

94,  What is India’s rank on the 2017 Global Hunger Index?

(A) 90 W 100tk

(C) 10® o ' (D) 120t

20176 2 @05 LIS GBS 146 @BHLN g e Wi Ligew (&I a&r) aufladlng? -
@) 90 " | ® 100
(C) 10 (D) 120
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"95.

96.

Match the following and choose the correct answer

(a) Bharat Mala 1. World’s Largest Public Work Scheme
~(b) MNREGA 2.  Skill deve_lopment training _
(c) Rurban Mission - ‘ 3. Joster research and development

"(d) Atal Innovation Mission 4. To connect border areas

() (b) (©) (d)
@A 3 4 2 1
B) 4 2 1 3

Y4 1 2 3
D) 4 1 3 2
Qum®EEs :

(@ umgs Cuerr 1. 2 ofler Quilu Qurg’ uesfl AL b
(&) MNREGA 2 Bpenw aueriviy LuGHA
© iuer Bagen 3. mebLit rmiss wHmb eeariiy exsEelssh
d) sigé @dTGmnG@Ja#s%r Al b 4.  ao@e uGHsd Heassd
@ ® © @
A 3 - 4 2 1
B) 4 2 1 3
(C) 4 1 2 3
(D) 4 1 3 2
“Olly” the name of Mascot of Asian Athletics championship 2017 was given after which of
the following animal? ‘

Wﬂ’ Sea turtle (B) Sea horse
(C) Sea lion (D) Whales -

- flu sLsar apgemento gL Gy 20176 — ‘@l erenp Aemamd ahg eflewmifemer GHLINGADE?
4 s a %dw (B) s&Lé @deny '
© L Ausid B D Sdusen
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97,

98.

The following terms join the family of “Bit coin”.
‘Ethereum, Ripple, Monero, DASH’ |
Bit coin means
(A) Fake currency

@™ Virtual currency

| (C) Black currency
1)) Hard currency ‘ N ’ ' -
Qevreu(mid G&nbuén’.msﬁ (Bit coin)‘ QL ~ srruSieh’ aeugen GHLLSCsTH Campgena '
‘asBRwwb, An9d, QurenGyn, Lrey’ arefld A
A smuSe Gtéﬁ;_l@ '
(A) CGuned Qeereuesf (or) Gu e} uamb.
(B)  wmus awnmmﬂ (or) wrw LieRTID
©  smiiys Qearaeh (or) SEHUILL LsTb
D) sqews Q‘amnméuﬂ (or) sg.ens LiewTD
India has sig_nod ‘an agreement with ——————— that would allow the two countries to
automatically share tax related information. -
(A) America
(B) Russiai |

ALY Switzerland

(D) Srilanka

QbSureyd -———— BT Qerenig wh sbubsorar saadsmer uflorflsQamerar guujﬁw
Qadigieenan :

&)  =Cuwfks

B)  reywr

©)  sedstonig

D) @onws
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99.  Mrs. Krishna Sobti Won the Jnanpith Award for 2017 in November 2017. Which has
' recognised her enriched literature contribution to the ' ' ' o
" (A) Bengali Language '
\,@T'.Hmd:l Language
- (C) Marath1 Language
(D) Telugu Language

Spod. Hegamm Conld eratueul, Heubd 20176, 2017 b QT HETET @HreniL eﬁl@é\mm
Gmmwmr @euaiims) Gfm@mrrg&]uﬁlco @eung G&@le_l_uuu_ @a)eseﬂu.s uiflpamer a;rm&&rrrymn@w _

(A)  eurismer an;ﬂ

® o Qump
(O wimgHu Quomg

D)  Gpgiiie Qumf

100. Name of the Sports personahty with the followmg ach.levements

I - The First Indian to wm gold at the world para swimming champlonslup 2017,

1. The Sports person has won medals in FESPIC games 2006 and para-ASIan games
2010 :

. (A) " Devendra Jhajharia.
L@y~ Kanchanmala Pande
(C)  Thangavelu Mariappan
(D) Varun Singh Bhgti .
IE;&TGU@Lb &ngéimsmme‘s QaneimL efleperu r'r.'L(D 6 IJ'.IﬂG'GT‘GLIU.Iﬁ; S(HE.

L - 2017@ 2es umpr (para) Bead Cumiigudled srrmlﬁhuanaﬂuﬁw RIS umw Qeuen. ngm

_ @i
II. 2006 & FESPIC sﬁ!emmu_lrruq.gpm 2010 & Ly %ﬂlu sﬂmmmm_m,gzno ugsasesrmasm '
Ommg;smr . _ :

(A)  CaCeausdy grgrium
®) sgsdnpran UG
<€) | FrsGaug wﬁnﬂu&udn
D) eumerr él;és-um;q.

. B A -~ Eo1Gsns
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Read the following instructions carefully before you begin to answer the quemonl.

10.
11.
12.
13.

IMPORTANT INSTRUCTIONS

The apphcant wﬂl be supplied with Question Booklet 15 minutes before commenoement of the -

examination. This Booklet has a cover (this page).

This Questiop Booklet contains 100 questions. Prior to attémptirig to answer the candqhw are
requested to check whether all the questions are there and ensure there are no blank pagesiin the

-question boo) In case any defect in the Question Paper is noticed it shall be reporhd'to the .

In\nglhtor w in first 10 minutes and get.it replaced with a complete Question quklet.

- If any defect is noticed in the Question Booklet after the commencement of ennMon it

will not be rcplaoed.

- Answer all’ qieltlons All questions carry equal marks.

You must write your Register Number 'in the space provided on t.he top nght slde of thm paaa. Do not -
write anything else on the Question Booklet.

_ An answer shieet will be supplied to you, separately by the Invigilator to mark the answers.

You m]l alememode your Register Number, Subject Code, Question Booklet Sl. No. ete.
in the space provided on the side 2 of the Answer Sheet. If you do nnthcode
properly or fﬁl to encode the above mformatwn action Wwill be taken as per commission’s no

Each questlo@ comprises four responses (A), (B), (C) and (D). You are to select ONLY 'ONE oorrect

response and mark in your Answer Sheet. In case you feel that there are more than one ‘gorrect

response, matk the response which you consider the best. In any case, choose ONLY ONE rolyotwe for
each question Your total marks will depend on the number of correct responses marked by you'in the
Answer Sheet. :
In the Answer Sheet there are four circles &), (®), (© and () against each question. To m:: the
questions you are to mark with Ball paint pen ONLY ONE circle of your choice for each question. Select -
one response for each question in the Question Booklet and mark in the Answer Sheet. If yoy mark

. more than one answer for one question, the answer will be treated as wrong. e.8. If for any iteme,’ @ is

t.he correct answer, you have to mark as follows :

00D

You should nwt remove or tear off any sheet from this Quest.lon Booklet. You are not. allowed 0. take
thJ.B Queanon &:oklet and the Answer Sheet out of- the Exammatlon Hall dunng the examlutmn

The sheet be&re the last page of t.he Questton Booklet can be used for Rough Work

In all matters and in cases of doubt, the English Version i is final. '

Do not tick- mrk or mark the answers in the Quest.xon Booklet. _

Failure to comply with any of the above instructions will render you liable to such action or- pez-lty as

the Commmsim may decide at thelr dmcretlon _
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